Question Answer Mark | AO | Guidance
. ———— —
6 @) x3=_10or L ML | 11 For attempting to solve as 2 quadratic in x° (May be implied by
8 these correct answers for x°)
x=-1 Al 1.1 | (Must be explicitly, separately, stated following x3 = —1)
1 Some working must be seen
orx= >3 Al | 1.1 | Answers only (no working or inadequate working) SCBL1 for each
(max 2/3)
[3]
dy 6 3 M1 | 3.1a | Attempt differentiate, at least two terms correct
— = + — 1]
6 (b) dx SO+ AN~ 7 Al | 1.1 | Allcorrect
Setting their dy = 0 and attempting to solve (must show attempt
56xC +49%3— 7= 0 M1 | 11 R
at solving the quadratic in x° or reach x=... from part (a))
Must see =0 here (may be implied by fully correct solutions only)
(Bx®+7x*—1=0,x=-1lorx= %)
_ _171 45
SPs are (-1, 11.25) and (0.5, 54 ) Al | 11 (Accept 11.30r 4) _
or (0.5, -2.67) (3sf) Coordinates must be correctly paired
2 [4]
6 (c) % = 336x° + 147x? M1* | 1.1 | Attempt differentiate their j—i’ , allow one error only
2
w=1 — “Z—Z >0 % = % = 47.25 (not required but if given then must be correct
2 = dx for their value of x)
- . Must see both statements; no need to see calculation
Hence x = 1 gives a minimum . LA , O TIBER 7O
2 9 Alft ) 1.1 ft their 2nd derivative and their positive x
2 2
x=-1= % <0 dM1 | 1.1 | Substitute their —ve x into their %; may be implied by —189
www in this part, ft their -ve x value
Hence x = -1 gives a maximum Alft | 2.2a | (-189 not required but if given then must be correct for their value
of x)
[4] NB differentiating 8x® +7x3 — 1 can achieve M1A0dM1A0 (max

2/4)






